R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, FL-15816.3

™

N R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series ("HVHZ")
Vinyl Double Hung

Window
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements including the "High Velocity
Huricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in the "HVHZ", this product complies with Section 1626 of the FBC
and does not require an impact resistant covering.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

This product meets the water infiltration requirements for the "HVHZ".

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

Bill of materials, components & glazing details

o~ |WIN|—

54" MAX. O.A. FRAME WIDTH

54.0"X 76.0"

7
Va
/
= !
B v
= /
2 = .
=
: /
< /
5 Va
< /
3
° %3
3
= I
X
&
/
Y
/f
47" MAX. D.L.O.
WIDTH

47.0" X 33.38"
G2

+65.0

-70.0

o B B
. em i
dm E£g
2 nPo N
P e R
0 e ] z
Eo"fﬁzc‘,
<_l_)ﬂ)l: w
= T o c .
I N
2> 07 .
Yon 5 i
..on‘“ES E
BUN;;&EFI\:
2 2352530
Eamﬁ'gu-\)u_'
9 53 .€C -0
a =po o c
P Racams 8
o o ]
® §U.Q g\
- 0= )
£ Tt
o o0
R el
3
0
0
o
7]
Lo
=Z =
:| 35
2 0=
s| °g
(7)) P
W o Z
= c o=
g 3 ey = L
mI )_—‘<(0
ol géaﬁ
[w =} | o
23 |8 S
Q QS%
= = =
S| 2|9 &8
ol > ,_L\‘-EA:J
(=] 14 o
14 <C
[ o
pa
[an]
2]
=
o
]
[0
i
<C
(]
o]
=z
DATE: 4,/02/13
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15819.3

SHEET _1 OF _6

© 2013 R.W. BUILDING CONSULTANTS INC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 16790\Double Hung\FL-15819.dwg, 2.3

)

4
Ve
N
N

D:lp*-

/i

| 7
f/
VA
/
X
//
4 4
2\
3
1-1/4" MIN.
EMB. (TYP.) -1/4"MIN. B
EMB. (TYp.) T~ -
SEE DETAIL 1 SEE DETAIL 1 e
B G1)G2 /*/
= INTERIOR a
D ; ;__ 'v' - v 7:
Y ’ .
3 | srnen ) — I _"'— R
0\

\\9\@

SEE DETAIL 2

/1 "\ HORIZONTAL CROSS SECTION

U Shown w/ 2X buck

EXTERIOR

@9 oo@ ooe

m HORIZONTAL CROSS SECTION
w Shown direct to masonry

® ®

DETAIL 1

SEE DETAIL }

G2e)

INTERIOR

¥/

¥/
i

EXTERIOR

G2GD

/

o

/4

1-1/4" MIN.
EMB. {TYF.)

DETAIL 2

l

uﬂu

]

SEE DETAIL 2

7”3\ HORIZONTAL CROSS SECTION

W Shown w/ 1X buck

“ﬂl

P.Q. Box 230 Valrice FL. 33585
B13%.659.9197

BULDING CONSULTANTS, INC.

FPhone No.:
Florida Board of Professional Engineers

Certificate Of Authorization No. 9813

Ry

Documents Prepored By:

[?—% [

Lyndan F. Scheidt, P.E. No. 434

8800 SERIES
Vinyl Double Hung Window
PART OR ASSEMBLY:
HORIZONTAL
CROSS SECTIONS

PRODUCT:

BY

NOJ] DATE

REVISIONS

DATE: 4/02/13

SCALE:  N.T.5,

DWGC. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15818.3

SHEET 2 oF B

© 2013 R.W. BUILDING CONBULTANTS INC.



TONF BINYLINENGOD ENIOTINE "M'd ELQZ (@)

"'ON "3'd WPIUYDS ‘4 uopukly SNOISIAZY
- AN SNOILO3S SSOMD 5 Tv3 TON] - "
TWLLHIA ] D PO PP B I
gLg6 "ON uofidzuoyINW 0 ®10ouReD . 215y 20,
s108UIBUY |DUOISES4OIY 4O PJIDOET DPLIOL] SATENISSY 0 Lavd w _M - m‘w =]
LELE'BGOTLE TON Buo g 2
SBSEC 14 OBLHDA OFZ ”_om .%M__\S\&u mopuiy buny aygnog jAuip V 2l M | 3_
TONI 'SINVLINSNOD ONIing S3RIS 0088 |yl H E iy G
:Ag poJodalg syuswnoog 1LoNG0Hd W m 2|5 m &
o
a
@
iy
[ib}
£
£ ("dAL) "8I
um = NIW /-1
c
o0
.0 amu < o~
..Am & o - M
= 0
$Z g (= & ©
3 ml o\ N =z
®Q z > o Q
- A rf e 5
.. = : P
$5% L 5 s
. — R w3
N — k D L S G
-t [ .m
“ v O ..rC...
sl M 2
.V A | = W
o] - &l o
5 (@) = vl >
['dAL} "awa * - e
NIW ¥/ 1 e @ - NI N
m i
27
i =
z O
3]
S (‘dAL} "8wW3
al. "NIW b/ 11
Olvu ~0
, . &3 - -/ (2 @
; = m_ o )X (L ,
, |3 B \z @ - =
) gz  z —1 3
e 1 2 W¢ Y =
&8 e O
>5 1 PR ]
[— D LA S nn“w
| AR o lks]
m Loelm as| 2
®) PO
= ‘ I
® -
2 - -
" =
o \© B
274 o™ M~ L .
L
oM
o [daews o "
NW .7/ 1-1 m
~, L
4 -.d - E N 0 AIU N
I &
C_1 = O
de s T ' 0 m F4 r% S =
N R — v.:“\ ‘ :C..
S - TR b
% ‘ @ nl.—ﬂ.m%&wu—E 8l
- > D S5 | —— W &) - o O
. N 2 o i T — T ey as .W
, = =2 0 %
0 N : . . e X <>
0 Nl ) F F N (s BB
/] sl A ] 28 ®) SE
i~ wic
| >i5
5®@ ™
: ® G
I RENECR
oF o'
= ® g & ®
©, ® = -

2 "BMPETRST-1\BUNK 31GnOaNG£9T Jd\BOLT - TOST foud\siepioy paforg\sioafoid - wiy



R\A - Projects\Project Folders\Proj 1601 - 17000\PF 1679\Double Hung\FL-15819.dwg, 2.5

16.5" MAX. O.C.
(TYP.) &
(TYP.)
L . R ; }
TYP.
2X s f
BUCK f -
[
MASONRY < E
OPENING Y
®
LA
I e | 1 i i
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

IR TR / (TYP.)W — —
T I | I ‘( .l
LR G )1vp. o :g:; '"
R - - P s |
/ SCREW LOCATED
IN BOTTOM
2X BUCK HOLE OF THE TILT
‘/ - LATCH HOOK 1
G FRAME =
e /
g FRAME
O
MASONRY g MASONRY
OPENING = OPENNG
s TYP. AR
‘ I } .';‘-‘a!.
V‘.'-‘ 4 1 ‘
T TN e
. o ‘et e [TYP) N

1. Subslifution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements,

2. Concrete anchor locations at the comers may be adjusted to maintain
the min. edge disfance to moriar joints. If concrete anchor locations
noled as "MAX. ON CENTER" must be adjusted to maintain the min, edge
distance to mortar joints, additional concrefe anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded,

3. Concrete anchor table:

e 1-1/4"

2_1/ Ul

3n

/48 1-1/4"

"

4"

10.5" MAX. O.C. [TYP.)

- 10.5" MAX. O.C. [TYP.)

R P
P N
+ 4

(TYP.) ”1

fny—

IXBUCK (k

DIRECTTO D
MASONRY

SCREW LOCAITED
IN BOTTOM
HOLE OF THE TILT
LATCH HOOK

|

3..
(TYP.)

DIRECTTO
MASONRY

FRAME ANCHORING

2% Buck

NOTE: Frame anchoring screws are located gs follows:

interior frack: above the mid-roil
Exterior track: below the mid-rail

FRAME ANCHORING

1X Buck

Direct to masonry

14" MAX. O.C. TYP.)

5
{TYP.)

o f rfé
2 8 A
] [ gile
g7 s3W*
dE2 ¥ tg8
Eo® 52
PR - Ui
- =¥ 0 C g
J5® B2 a
3>,rjln"6 N
o U g +
£82 8% 1'%
§8REaNE
3 23234
E EM0o gy W
34.5-50
59
PRaEAE 8
[t ot
L gg* 3
c <t
o 94
P
3
9
Q
(4]
=
S
£ %
mg X
sg| st
%3 o L
I |5 =
ol x<
oL =
L o Dl
23 |9 =3
a |4 =
Bl o= el
SI & e
al =
o g
[+ o
>_
n
ol
=
Q
v
4
N
<
P
O
Z
DATE: 4,/02/13
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15819.3

SHEET 4 oF 6

© 2012 R.W, BUILDING BONSULTANTS ING .



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 167%\Double Hung\Ft.-15819.dwg, 2.6

3.84"

e 50l

o
CSEe— 0.07 U
| Jf

3.8%

2.28"

k T -

e 2.8"

@ FRAME HEAD & JAMB

1.42"

( : ) SASH STILE

09n

0.44"

_‘__:’_1
4F 0.06"
B

( )GLAZI'NG BEAD

i
!
=

[

[
—J
L

(: :) TOP RAIL
Upper Sash

(: :) BOTTOM RAIL
Lower Sash

T=
—_— 141"
|
had

( : ) KEEPER RAIL
Upper Sash

i

377"

047" 1

@ SILL DAM EXTENDER

Sadl

[
O edE

Z= I

B =1 iy e

Ji
==

) i
Hmeemeeg
a—.-—.[‘"::::::—qr— i I:
§o L i

T e =] iy (e ey

AF5% (Masonry Flange 1)

s

V672 (Masonry Flange 2)

OPTIONAL COSMETIC FLANGES

166 ———-i

—1.31"

0.06"

. HEAD ADAPTER

818"

Bsfv

0.19"

_1
wod
. REINFORCEMENT
Alurm,

1.08"

815

1.03"

. REINFORCEMENT
Alum.

No. 9813

BUILDING CONSULTANTS, INC,
P.O. Box 230 Valrico FL. 33595
813.659.9197
harizath
Snde s 2

Phone No.:
Florida Board of Professional Engineers

Certificate Of-Aut

Ry

Decuments Prepared By:

&7

hmidt, P.E. No, 43409

Lyndo

8800 SERIES
Vinyl Double Hung Window
PART QR ASSEMBLY:
COMPONENTS

PRODUCT:

BY

REVISIONS

NO. DATE

oate: 4,/02/13

SCALE:  N.T.S.

DwG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15819.3

SHEET 5 oF 6

© 2013 R.W, BUILLING CONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, 2.7

BILL OF MATERIALS

1TEM # DESCRIPTION MATERIAL
A [1XBUCKSG >=0.55 WOOD
B | 2XBUCK SG >= 0.55 WOOD
C  |1/4"MAX.SHIM SPACE -
D | 1/4"X 2-3/4"PFH ELCO OR ITW CONCRETE SCREW
e | MASONRY -3,192 PSI MIN. CONCRETE CONFORMING TOACI | o\ cReTe
301 OR HOLLOW BLOCK CONFORMING TO ASTM C%0
F | #8 X 1-3/4" PPH WOOD SCREW STEEL
G | #8 X2 PFH WOOD SCREW STEEL
1 |1/4"X2-1/4" PFH ELCO OR TW CONCRETE SCREW STEEL
K| 1/4" X 3-174" PFH ELCO OR TW CONCRETE SCREW STEEL
1 | FRAME JAMB® PVC
2 |sIL* PVC
3 | FRAMEHEAD* PVC
5 | SASH STILE* PVC
6 | GLAZING BEAD* PVC
7 | KEEPER RAIL UPPER SASH* PVC
8 | REINFORCEMENT (6005-15) ALUM
9 | LOCK RAIL LOWER SASH* PVC
11 | TOP RAIL UPPER SASH* PVC
12 | BOTTOM RAIL LOWER SASH* PVC
14 | SILL DAM EXTENDER PVC
16 | WEATHERSTRIP ULTRA FAB .270 PILE - 270 -1875B -
17| WEATHERSTRIP SILLBULB (AMESBURY 32690) -
18 | REINFORCEMENT (6005-15) ALUM
19 | HEAD ADAPTER® PVC
20 | LOCK 8513/ 8845 LAWRENCE* PVC
21 | KEEPER 2700/214 LAWRENCE* PVC
23 | #6 X 1-1/2" PEH [VINYL LOCK SCREWS) STEEL
24 | TOP SASH TILT LATCH - ASHLAND® PVC
25 | BOTTOM SASH IMPACT TILT LATCH - ASHLAND -
26 | #8 X 1" TEK SCREW STEEL
28 | PIVOT BAR - CALDWELL -
28A | PIVOT BAR - STAINLESS STEEL OPTION -
29 | #8 X 1/2" SELF TAPPING PPH SMS STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

T | 0.41" Aj“ ﬂb
T

.

0.29"

|

<]o o}
05 —m t- J
P
. PIVOT BAR

1/2" GLASS
BITE

0.3" =]

= 029"

z.t———s.o ]
Tl:

o0 *) ehi¢
] 066 e 1t ] f f

. PIVOT BAR

NOVAGARD M400

—— 1" THICK GLASS

INTERCEPT SPACER —/

C:) GLAZING DETAIL

172" GLASS

BITE

7

1/8" ANNEALED

0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED
AIR SPACE

1/8" TEMPERED

SIKA 552

—— 1" THICK GLASS

1/8" ANNEALED

o~ ———— 0.090" DUPONT SENTRYGLAS® INTERLAYER

INTERCEPT SPACER ‘/

(:) GLAZING DETAIL

5& 1/8" ANNEALED
\_ AR SPACE
1/8" TEMPERED

e b “fh
. Bm N3
gm £ M7
ZJ‘.\E’@\
Lpoeow . 4]
g s 2
283 B2\ i
< ¢ !
HRE8 26N
a>" 89 Ve
= 4 N O
Z0m 0T .
o~ oM -0 E
I:EI‘UN'O:D' d\.c
3(2352“6&)3
§87¢trs Su
0.-—000 c
P Roaml 5
o o o
» §09 E\
4 T x )
c TP
o 9 @
F o
a
[+
&
o
7]
=
<<
=
S &
g 3
S 9 e
mg L =Z
W on o g
= £ i
x ;_._S
P P
wy _]E
QO 4o
0 W 2]
KO iy 4
Q <£E
ol = |g®Z2
2 £19 f
(o] = i
o] o =
i <C O
o o &)
po
[anl
%3]
=
o
v
2
L
<
o
o
pd
oate: 4/02/13
SCALE: N.T.5.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15819.3

SHEEF 6 oF 6

© 2013 R.W. BUILDING CONSULTANTS NG,



